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PART-1V
LANGUAGE 11 - ENGLISH BOOKLET

71. Identify the correet auffiy for the 5. Identify the antunym nf'harmnn‘j'

waords given below

(1) Peace
Word Suffix (2) Tranquillity
(a) doubt (1) ness (3) Disturbance
(b) high (i) ful () Calmly

(1i1) ment
76. Read the sentence
(1) (a) - (ii) , (b) — (iii)

i Hirachand told about what had
(2) (a) - (1i1) , (h) - (i1) (A)

(B)
@) (@) ~Gi), m)-g) happened
(4) (a) - (ij) , (b) - (iii) (€)

Which word(s) tell / tells us about the

72. Identify the Bynonym’ of the word earlier action in the sentence?

el (1) (A) and (C)
(1) tiny

- ; (2) (C)
(2) microscopic
(3) gigantic (3) (B) and (C)
(4) insignificant (4) (A)

73.  Which of the following words does | 77 Read the Sentence.

not come under medicinal plantg?

I can recall thoge happy events.
(1) Ginger

(2) Neem - The word underlined shows ...
(3) Garlic (1) belief
(4) Palm (2) conviction

(3) ability
74. What is color '‘azure'?

(1) Red

(2) Sky blue
(3) Green
(4) Yellow

(4) determination

WS-27/TET cum TRT-311-EM/TM [15) Turn



a) Vimala hhikes ginging.

b She hikes dancing.

™

Identify the correct sentence you will

get :f vou combine the above

sentences.

(D vimala likes singing and as well
as dancing.

(2) Vimala likes singing but

dancing too.

es singing and she

(3 Vimala bk

likes dancing as well as.

(4) Vimala likes dancing and

singing.

What do you say when you see 3

man who 1s eight feet tall?

79.

(1) How tall he 18!
(2) How tallis he!
(3) How tall she 1s!
(4) How big1s he!

[dentify the correct word that can fill
in the blank in the sentence.

The miller .....&.. &= his son onto the

£

donkey.
(1) Lft
(2) hfting
(3) Lfts,
(4) Liftes

NS-27/TET cum TRT-311-EM/TM

[16]

82.

83.

84.
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v the two
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]dt‘]‘l.[l
1 mnt

which ca fil

::...-ntr‘l‘il‘t‘-
2 IR when the bell w..oomeeees

(1) AT st rang

(2) was WEILE sia et 3 ranged

(3) was WritIng e ranged

(4) was W LTI et rang
sentence:

Read the

[ must stop &t che traffic lights.
Here the underlined word shows ...
(1) ub]i}zatiun an
ity

4 compulsion

(2) possib
(3) necessity
(4) ability

[dentify the passive form of the

sentence.
o village liked rip.

rvone in the village.
by everyone in the

Fveryone in th
(1) Rip liked eve
(2) Rip was liked
village.
ryvone liked Rip.

(3) Eve
being liked by everyone

(4) Rip was
in the village.

Identify the correct set of words to

fill the blank 1n the sentence.
If vou do not water the plant, ...c....
(1) it would die.

(2) 1t wall die.

(3) 1t can die.

(4) 1t will had died.
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85. Identify the correct pi the correct set of words 1,

ir of words | 88, I{h_-mif'_','
that fill the two blanks in the complete the sentence

Seience: Thisisthebook ... 44
Mohan has ..., friends . school. (1) which I got from grandpa
(1) MBERY at (2) who my grandpa gave me
(2) much..... near

(3) where Lread stories

............. n (4) when 1 got 1t on my birthda}'
(4) lotof ... inside
89, Identify the sentence which

86. Identify the correct pair of words / contains a gerund.

phrases that can fi]] in the blanks (1) She has been learning French

n the sentence. for years,

Father to son : Your EXAMS ... (2) I'saw him smoking,.

K studying ... o (3) Smoking is injurious to health.

(1) nearing T (4) Why are you standing in front

v 7

(2) are approaching ... seriously of my house?

(%) coming...... dutifullf 90. Identify the correct question tag for

(4) aresoon ... carefully

the statement.

87. Identify the correct sentence. I've met you before, ...

(1) Siddu is heaviest boy in the (1) haven't I.
group. (2) haven't I?

(2) Raghavais older as Rajesh. (3) didn't 1.

(3) Hariniis not so tall as Prem. (4) 1sn't it?

(49) Vamsiis tall as Ramana.
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(91-94) Read the following
A passenger, namoed Rava, was

30 apples in s luggape. The conductor
Rawvi argued that the apples were given to

of his fanmly. He also sad they

Tht'
100 as luggage

conductor did not

Rs. fare. Ravi repe

demand, stopped the
Just then a clever pass
to thirty passengers on the bus.
anvthing but start the bus.
When
Rawi took them home.

Now answe

91. Why did the conductor ask Ravi to

buy a luggage ticket? Because he

thought
(1) Ravi would give him one or two

..........

apples.
(2) Ravi was carryinga lot of apples.
(3) apples should not be carried by

passengers.
(4) Raviwasan apple-seller.

travelhng
ankoed Iy

lyim by his

woere not for anl

listoen.

wated his argument.

bus and asked Ravi to pet oft.
enger took Ravi's permissior

The dispute «
the bus reached Delhi, the pass

r the following questions ¢

ROOKLET 0
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Dol He had o box of |
(npplon),

FRULL Slhumla to
y lor the lapggnge

for it
he memboerg

{rrend Ghimla fort

¢an Delhn

He pnmm-ni. of

an ;
aited hi :

insiated
The conductor P

.l the npple

‘
wnded. The conductor could not say:
i

y iind distributi

engers put all the apples into the box and

orrectly to show your comprehension.

93. Why did the conductor allow the bus

to continue 1ts journey”’

(1) Bachof the passengers had only

one apple cach. |
(2) The apple box was emptly &nd‘!

the inspecting officers would not

find fault with him.
hidden under

(3) The apples were

one of the seats.
ht a luggage ticket.

92, The dispute arose because ............ _

(1) Ravi was not willing to buy a (4) Ravi boug 1

luggage tickét. 94. Who showed love for the members

(2) The passengers objected to Ravi of Ravi's family?” '1

carrying apples with him. (1) The conductor !

(3) The apples were given to Ravi (2) The driver -'

free. (3) The copassengers of Ravi 1

(4) The conductor wanted Ravi to (4) One of the passengers on the bus

put the box of apples on the top 1

of the bus.
¥5.27/TET cum TRT-311-EM/T™M (18]
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6. Tdentify the

corroe, BLabemoeng 0un
tonching ronding in Fnplinh

(1) Woe munt ensure that Pupily

wilontly with
comprohongion.

ol

(Z) Our pupils muygt read fast at the
cont of com prehension,
(1) Our pupily

must be taught (o
rond

slowly  with 100%
comprehension.
(1) We must “ncourage our pupilg
to read aloud all the time,
96.  ldentify the cory
Iinglish language

Oral

ect statement in
teaching,

presentation mugt he followed

(1) reading by the pupils off the
blackboard.

(2) speaking by pupils,
(3) writing of own sentences by the
teacher,

(4) reading the textbook passages
by pupils.

the 'Deductive method of
teaching grammar; the teacher

97. In

(1) begins with the rule and goes on
to give examples,
(2) gives a lecture on how grammar
functions in a language.
(3) begins with eliciting examples
andarrives at the rule.
(4) haghlights the importance of
grammar in

language.

learning a

1_’-’!_!:}']'] 1ODOLOGY

8. Now |

99.

e —

BOOKL Q

Mglinh Loxthook materinly pre
for ...

(1) Intengive rending,
(2) eXtenmvo randing.

(3) intengive nnd

exhaustive
reading,

(1) intenpive and  exhaugtive

rending,

We tedeh poems because
pupilgs..... ...

wWe want

(1) Lo enjoy Baying / reading poems
and derive pleagure.

(2) to appreciate poetry and poets,

(3) tolearn new wordg

(4) to consolidate the language

learnt through Prose passages,
100. In a test on ‘cooking' the following

test item was included.

Identify the price of an electric

microwave oven.

a) Rs. 5,000 b) Rs. 10,000

¢) Rs. 2,000 d) Rs. 7,500

The above test item is

(1) not reliable
(2) not valid
(3) reliable
(4) valid

VS-27/TET cum TRT-31 1-EM/TM

(19]
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veloclty 18 ..o

Sedos B SS9 2SI ereett
(D MLCT : (@2 M g
(3) M° ;g e 4) M°L T*

102. A body weighs 30 grams in air. 20
grams in water and 25 grams in a
liquid. Then the relative density of
liquid 18 cweeeeseeee

-

wmi mLE 8T 30 @

s 20 s, WE S 5 2o 25
TS, B0 & g SRR -
(1) 0.9 (2) 2
(3) 0.2 (4) 2

103. Correct graph among the following

which indicates the relation
atmospheric pressure (

altitude from sea level (H) 18 casenee

200

ol oS ;‘*‘--.H:;c..&cn-r' 2308 '.*:;g:.&?;;_aﬁ-,
‘=______,_.—-—-
1 ! )
)
O
-0

. TRT_N1.EM/ITM

between
P) and

":v:a:-:f;:.‘:c (P), Soaisee

104.

(20]

105.

106.

ward pressure of a water

The dowD
000 kg of water and

rank having 1

5

1000 kg =&° Lo el O,
e 500 cm” o & bt G,
55 BEC wearenee

(1) 90 kg/cm” (2) 2 kg/cm

(3) 1 kg/cm (4) 10 kg/cm

re in Kelvin

ess that remperatu
Fahrenheit

Expr

where Centigrade and

have same value.
F L”Eﬁﬂg

.-:‘..n:“q.mﬁhv" 3y 4 I

zcales
-

W e, -

SER <305 el Bees.
(1) 273K (2) 300K
(4) 233K

(3) 250 K
induction at 2

The magnetic
m the center of a

distance 0.5 m fro
short bar magnet on the equatorial

line of the bar magnet of length 5
cm and pole strength 3 X 10°° amp-

meter.

(1) 12x 107" weber / meter’
(2) 2.8% 101 weber / meter’

(3) 11.5% 10-* weber/ meter”

(4) 16 % 10" weber / meter’



BOOKLET

107. Among the following the correct | 110. Arrange the i::'llawing
formulais...._._____ eIEthDmﬂgnﬂtiﬂ wWaves in the
ascending order with respect to their
2ol &t SO i energies.
(V) B=y, H X-ray: UV rays; 5 -rays; radiowaves
(2) Bu,=H 1) Uv rays; X-rays; radiowaves:
' 7 -rays
@) su=p, (2) 7-rays; X-rays: Uy rays;
(4) 1, =47x10° Henry / meter radiowaves
(3) X-rays; y "Tays: radiowaves: UV
108. If the Earth's magnetic field at 1'31'-'5_!
equator is about 4 x 10- Tes]a and (4) radiowaves: UV rays; X-rays:
radius of Earth be 6.4 x 10°m, the 7 -rays
fapproximate magnetic moment 1ok 23 0anx F"".:ﬁ‘;"::’-‘{‘ Slomess
- TS TR oouer oo s
s e == ‘“—'?01«3“:_95 'éj‘i& b;-a: Sned
4 X 107° 83 558035 26~ R SO
6.4% 1065 ca s X-Steres,  w3ledns Seres,
4 x ..aao..;;’;aa‘ijnz SO ke .,
) 10 x 105 A. M2 Y -3emes, SAD» Bames
1 X A-M* - s
( E (1) UV Rers:; K-éﬁt?t:; oadl»
(2) 1.5x 108 A-M2
1.0 X 102 A.M? Do 7 - Seres
3 AL LSa=iVl=
) 0 02 A-M (2) y-hm;x-h- ‘;W%&M %
1.0x1 -M?
(9 5&&“5&&‘1'&,

109. An object is placed at 10 cmin front

) : (3) X-3Sere; v- ereo; SAS»
of concave mirror of radius of

curvature 15 cm. SR¥ sign Stemes; UV Seres
conventions of object distance and (4) o> sSemey; UV eres;
radius of curvatureis ... X-3eres; 7 - Lsemes

“5 D 15 2e.be. SETTCe Mo
TS SGree Saet 10 e.b. Srtest
Sobndold sond Do Sopmrainse
ST T 00 BT Ty
3 SO v 4

(1) +10em, +15em
(2) -10 cm, +15em
(3) +10cm, ~15¢em
(4) -10cm, -15¢em

Ove
WS-27/TET cum TRT-311-EM/TM [21] Turn r



& 266 = 262 Hz
. SHTET cum TRT-311-EWTM

pOORK! LT @

with @ rope.

11, Mirages are sormed due to total J14. An obiee o hanred WO dope
““‘\r“‘ﬁ“‘ﬁ“‘“““ of light. The path Time porie of the obpect ¢ epends
of the hutht T received by human on
ove is Known &8 ; L woipht o an ot
'l:"l l"ﬂ:'\"‘ti }‘ﬂth '1-!1' :-'-!l:'l.].'lli t.t‘{lh‘- 1.\1"!‘“.*1.1. ]
e Qeraight hne @3 ;uwphiudv ol the ob)¢e _
3 Circular path el lenpth of the ropé with obyeet
4 none of these o B o
L =y “‘; s - h‘*‘q& ﬂ'\,:u‘\:wm\!}‘ ﬁ‘d“-‘ﬁ@
AaeRes S ey e 33 -
e Y s RS SN segoes® © B
se DRI RUSSS seulodon sved : :
L uﬁ"\:ﬁx T
i ) ey STORR
1) DS (1) SRR S (2) BV T
L= "l'-;-_q:""" ey 5 e &l—m
: ) Soe = (B oees WG
(D) N (3) 3% BOY 5 e
3 SRR 115. The cacond floot of a hous® 18
i ' ¢ meters above gmund level How
}y e R s R . g
= TN n“b-a- u-.-'\.ﬂ:- 'I““Ch “"i“'k 1 'l"l.‘.‘ql'l'l.'l't"ll to ].'ttt i
112 Veloat¥ of sound in & FAS e 100 kg refrige? ator to st ond floo¥
|:\L 'i g SOS W i %) ]
_‘.' Jecreases “.lth te Iﬂpt"!'ﬂturt. hg*-?'_\,'s:.: — I'P'.-'B%.“w ‘ga%@}-\;\f‘. 8} :}3...25‘ o
9) increases with temperagure = prhesfiss DI
- - ) - o 3 - i
(3) .ndependent of temperature e SO 300 3.3 © Of -
(4) first decreases and then SCTE ARSI e 25t v
inCreases with temperature (N 1600 Joules (2 2 'I\!.ll.‘l-:lﬂllllb
- =4 - 'i — & w s
—pOC oty UL IR (3) 1.6 kiloJoules (1.8 Lllfmlmlles
(1) anns’ e B . ;. s
. SSees 116. A patsman hits ball straight 10 the
2y A s D oooel direction powler % ithout
NS 2 changing 1t8 initial spee of 15 m/
(o) aes O B sec. If ¢he mAass of the ball be
0.12 kg the impulse on the ball
Ten tuni - ;
113. Two tuning forks are having DE werneenreerss
frequencles 262 ;L "
' ; f 262 f'::andiﬁﬁ Hz are 55 wwsﬁén*“ 5152 w‘hﬂsm
sounded toget er. The beat = &
= . - il P e - - - - - —
frequency is -4 35 008 S0 AE B , 0
S 3ol eeomece DR 408 B PRS- 0055008 0.12
- 1 e -~ .\ﬂ-&\“ - l-‘
e oW HI te -t 26'6 HZ. ; 1 s ;..._i:'n"'. w.n-ﬂ:b L‘WE e > 54535 P
Pa—— - 1) 3.6 N.S 2) 3.8 N.S
Bl e : \
. - ~ naNS
i) 266~ 262) Hz (3) 3.= N.2 4) 3.0 N.S
) (%68 + 262) Hz
e 266
4 Hz
262



|
i
:

.;IIB. Blow a balloon for

|
|
s

117. The mass ol s bullet s ) 1y lege Whint

1S the foree required 1o brang 45 m/
SeCC necoleration IR

: 2 -
0.3 :..-"l“. :'h}'u"‘. Pt L,:..'_L‘:..- i) G4

. i e s— =y L) .
Selraciio 30NoL 0 ::1-.,‘5 Ol Na By

k. L
bl Tank

.............

(1}
(3

(2) 135N

1134 N D 130N

118. Chooso the COTPect statemoent

(1) The speed of air Howing parallel
to the surfaee of a body 5 high,

Xerted s low,

ar flowing parallel

to thoe Surtace of g body g high,
the pressure exerted s algp high,

(3) The speed of ar flowing paralle]
to the surface of a body ig high,
Pressure exerted wil) be relative,

() The speed of iy flowing parallel
to the surface of a body ig high,
the pressure exerted is zero,

(1) 2T Wy oy, Bl N S
O NN Ho8 SRS hesse
Siodoad

(2) 2wy A%, BeL arostem
™0 s Hod SRS hase
~Cofotoad

(3) SHEeIIsiraston md S 0Hos
SRR besse VT Sowsed

(4) BB sEreBem ™0 dxyn
DT Do TS 203cn hesse
EOS

the pressure (
(2) The speed of

- R =
WD TSR0,

a volume 'V' gt
temperature "T" and tie it If the
temperature 1s doubled, the volume
of balloon (assume pressure is
constant) 1s

............

27TET cum TRT-31 1-EM/TM

120.

121.

(23]

BOOK] oy @
it e O AP o L LT [ =
PRS00 Lo v L..f"g-.._b.'.-:__'l.x.‘:.l.‘.u:.'»&‘
"W YRRl rs Thubasgs

- L. =
..-C-:'M:L_nb...."‘u
1 na LA

C-'lnh'.'h_.-l.:hu.-\,._uh PR

v GBI Dot S Ay
Comnl, R

1y av 2y 3y
2

(3) v (4) 2V

TOO g of water lie

at 100°C, The
at required g change
' BAseous phase iy =
100 gon 2% 10000

amount of he
from hquid g

e

el gm‘:‘r\}ﬁ"..
SR TALLBE Lty TR0 &
(1) 54,000 Cal (2) 5,400 Cal
(3) 54,000 kCal (4) 540 kCal
The correct statement aboyt the use

of radio 1Isotopeis

a2}

(1) the i‘um-.timung of thyroid gland

can be tested by

(2) the functiuning of thyroid gland

can be tested by

Na isotope,

21 Co isotope,

(3) the functioning of thyroid gland

can be tested by "3 I isotope.
(4) the

functioning of thyroid gland
can be tested by ' ¢ 150tope,

POTIE BEIR = XhY ES@MNIsEs

~SOROQO0D NN I

LEL T T T

(1) ool ed  wodusss "\Na
(2) 3o fed  wobsuss b

S
(3) 3ol e wobusss 11! 1 o¥hyd
oL
Pl fod mbie 1 ¢ aX e
28Ee

(4)

Turn Over



BOOKLET @

Wi rds t,he

: 1S nfwml Lo
: 95, Abar magnet1? I :
122‘ -! hi_“ i)r] I]CIPIL‘ nf l'l}'dl‘ﬂl.fl?n I)f‘tntl 125 U‘}]! "ﬁ'Ii 11 'IT:'-" '-":}rtl" II“)]{‘ f‘ﬂﬂlnﬁ t_he cﬂﬂ.
1S . . e - , coil tﬂwards the
| .- [he fact of the )
(1) cont rolled nuclear fission et O w5
(1) north pole
ole

reactions
(2) uncuntrnllud 1 ar fission

rr:wtmns

sucle

nuclear fusion

(2) south P
(3) north al d ;
tic pole 1t

(4) no magne
ugj@‘iﬂbﬁaxe

(3 controlled
!‘l‘ﬂ(_'”{}ﬂf:
(4) uncontrnlle‘d nuclear fusion JM@WE‘J
reactions e Soteaesd Qﬁﬁag' E@gﬁ E&E}é,
sl ol % SCHEBIID oee s oBo B et Do BOO e
(1) :d;.wc_a“;&:‘:.:;::-:g@wgm (1) ﬁg@;@ﬂﬁﬁﬁiﬁa
(2) ..;m-;aaé.-:-;.z;:gg“-;m () e DT 10 el
(3) Z;iw.gpiﬁ,:;:i'ﬁc{tfi}:%w (3) a@;@@@@p‘mﬁﬁﬁﬁgﬂﬁ
(1) wncogB3ess b TR (4) @Naﬂbcaqjmb@w
123. The symbol of p-n junction diode | 126. Artificial radioactive serics among
IS oovsamtens the following 18 -
p-n ::s;.ff fetovinles ERD searaeerttttt 2o8 0 55 oW w;jﬂ.{}%: (G sessuses
W (1) 4n+3 (2) an+2
(3) 4nt1 (4) 4n
qure a £as e -

2) —b1

124. A serial set consist 'x’ number of

bulbs in series, cach bulb have 6V
p-f‘-tf'nti.‘il_ [f the serial setl 15
d to 240V AC, the number

connecte
f bulbs it requires 18 ooevrrrmrnnanaes
- - - [ L] [

ars S oaked® 2t Bopg MO LN
Sy T 6V ?.agow;mﬂh&mm

o, 240V AC 5% SO0

et

&4 "",-.-,: -
4 o s SRS LD OPg everrerert
(1) 220 (2) 240

(3) 40 (4) 6

127.

w: &= rfMET r11m TRT-31 l“EmM

At constant tempera
occupies Y liters ©
re on 1t 18

pressure p. If the pressu
increased ten times, the volume of

gAS 1S orveee
R iR Ao B P besse
- ™ H &
s Srssme 0 (3 EDs0w WIRORTTOY
buc‘g. 05 TPUSOe o b, pno SO0 POWR
P ropeveir) LSO SIORTEIO seeeess
=8 @) =L

1y — Lt 9) —— Lat

(1) y ) 10

(3) 10 y Lat. (4) — Lat

' ) 10

24]



12

129.

WS-27/TET cum TRT-311-EM/TM

8. The im portant stage
production of video sig
object 1s
(1) communication
(2) modulation
(3) scanning
(4) transmission angd reception
WS SR Sowehod Hagms Roiorons
CTHOCUESER (sows o5
(1) St
(2) Sendus
(3) Ak
(4) ©B3es wdain s

Among the follow

statement is ty

hybridization?

(1) Orbitals of outermost

involve in hybridization. _

(2) Orbitals of outermost adjacent

shells having different energies
involve in hybridization.

(3) Same type of orbitals involve in
hybridization.

(4) Orbitals of Innermost §hell
involve in hybridization.

$o308mon  Soweton 38 sk
WOIE) wrivaveines

(1) n5006% ety Soxbsmost
>Eoras,
(2) B wpeo Moy yens an
PR TSR SOy SoiRiesed’
>Eouran
(3) 3 CESDD ey 9o¥bitmod®
(4) s S0 Myvodh whumy
SC508r308* ZEoumans

in the
nal of an

tttttt

Ing which
ue with respect to

shell

130, Among the follow

BOOKLET

ing which have

coordinate covalent bonds?

300 TRE et Stodmetiss oS
72
a) HO- b) NH;
¢ F,B-NH, g BeCly
(1) a),b),0) (2) a)pd), c)
(3) b),e), d) (1) @), d), b)
131. Octet rule js notobeyedby ...,
YRS DSOS Tedewnn ...,
(1) COy (2) NH
(3) HO (4) BeCl,
132,

In the following the correct

statement for Zeeman effectis ... .

(uNiels Bohr explained Zeeman

2 effect in his atomic model.

(2) Rutherford explained the
Zeeman effect in his atomic
model.

(3) Ttisthe splitting of spectral lines
into finer lines in electric field.
(4) Itisthe splitting of spectral lines
into finer lines in magnetic field.

B8 TG S 1$Dse K8ed s

(1) 5% istames s’ S5 3080
1000 DsColmets

K800 JBonmHs:
(3) oS Fed® spmudves, iy Uy
ASSpeom DABS

Qi aslpenre DA

(25]

(2) wrlsbissaren Sarmd’ S5 $0se

(4) ciodmon Fuwund® ssedpes iy

Turn Over



138. The number of wavelengths per unit
length IS coveressere
(1) frequency
(2) wave number

(3) quantum number

------------

134. ‘AP In Heisenberg's uncertainty

principle indicates ...
uncertainty
m of the electron.

the velocit¥

(1) the in the
momentu

(2) the uncertainty in
of the electron.

uncertainty

Jength of the electron.

(4) the uncertainty n
momentum, veloeity and

elength of th_t" gléétron.

(3) the in dthe

wave
the

wav
~:=‘-’5-’5mﬁrwﬁ‘ AP
(1) SogS el SRR
(@) Sep5imne SIRBEFS
(3) do% S, serassE
(4) o3 Mm.ﬁmam

3-27/TET cum TRT-311-EM/TM

135.

136.

137.

[26])

BOOKLET @

effect, the kinetic

o electrc MDY
electron 18 given

In phot
of chcted

energy

------------

The elements after granium in

actinides are
(1) representatiue
(2) transition elements
(3) inert gases

(4) none of these

esdro & Sainose

-------------

-------------

LaroThes
(1) SO0 BITOT
(2) wagﬁmwm
(3) u& P toveb ol

- ar Fo o

@ 2

The
electronegat

elements having same !
jvity values ATC ..oonus

(1) Carbon, Silicon, (Germanium
Tin &,

(2) Carbon, Silicon,

(3) Silicon.Germanium.Tin s

(4) Carbon, Germanium,Tin
. BND  DOSSES Ke

P ar T
] @

L=J|

*

e,y
e e
hll

(1) =% WEmE, EOEEe
(2) TGS, 2L 85
(3) 1B, B, 39

() TS, sba0, 89



138. The element discovered by N

1879 was

son in

(2) Eka Aluminium
(3) Rubidium (4) Scandium

1879 &' Ley5 Softy,
(1) mEase

(1) Gallium

wrote

(2) o= bt o

(3) wbaage (4) 3 clase
139. The Incorrect statement among the
following is
(1) Fluorine has highest
electmnegati\ﬁty.
(2) Caesium has highest
electrnpositivity‘

(3) Chlorine is an inert gas element
(4)-Bromine is a halogen element.

(2) .}Sq.:s q&:aaﬂssotb;sﬁ e SoreEe

Shase

-----------------

(1) 2Mg +O) B, 90100

(2) zn+2-"Hk:'f-—-->ch:,+H, )

(3) Ca€0;+2HCI—Cacy,
+C0, T+H,0

@), €H, COOCH, + H,0——

------------

141. The Correct statement of t
reaction is

CHa COOH + CH,OH
WS-27/TET cum TRT-311-EM/TM

(27]

142.

BOOKLET

he rate of

(1) rate of reaction 18 doubled or
tripled for €very 1500 %ice in
temperature,

(2) rate of reactionis doubled or
tripled for every 10°C rige in
temperaturg,

(3) rate of reaction decreases
every 10°C rise in temperature.

(4) rate ofreaction 18 independent
of temperature.

38 226" o dmnl senonons 2
(1) =& 15°C SIS Drarex
SR oty B et s e
@ 80 10C a3  2ersess
wstm»méam&gwm
(3) && 10°C GG Drrosexs
SO Dot BAMER ot
(4) o a3 > eovss
The number of moles of methane
required to produce 22 grams of CO,
gas in combustion process at S.T.P.

for

---------------

S.T.P. 55 sovspdand' 22 m. Co,
TP Dolonts el BdS 1nbe
" (1) 1.5 moles

(3) 0.5 mole

(2) 2.5 moles
(4) 3.5 moles

Turn Over



chemical equation for
into hydrogen

b e
P

(1) 2HOn B 2H,

(2) 2HS
(3) 2Hf—
#) 2H 0=

Among the rﬂ]mﬂﬂ i
not in the list of greenhouse ganen’

*V20

 B0C L 2H, Do
E —rz”;,’, q;‘r‘

mmz:__,z Hyn* @

wes which I

144.

145, A solution has two cOmpo
and 'B. Their mole fracti
oy, T’“@ (UPAC

‘l} 2; 4: 4r “
5 - dient

s e X,
f Lt:trmm:thyl Hex ~ 15

"l*x -1, |

urtr#rm-thyl }

>

Lolusis Ky i cesboifee (%) 2.% 5%

() X, % Xy = X,~Xy=] 5 - diene

& X * X 4 X 4 X" 0 (3) %% %5~ et ramethyl Pent = l,J
5y~ diene ',

pramethyl hept = 1y

$ (4) 24,8,
' 5 diene

o
| S
P sl ™ St
—

et cum TREINIWM )



148, CI1, s ACL, o

abave reaction i,

rrrrrrrrrrrrrr

(1) free

» (‘T"T‘ + '1- f f f.‘f

BOOKL kT 0

150, Among the I'ullr:wing whie

ichohag
conformery?

; i il e - »
radicy) Hu hutilul.inn P08 lrirei RS
resetion (1) CH, (%) U!H‘
‘ cu i (3) C &

@) electrophilje Bubstitution ) CH, WG,
reaction « These radiations Are responsible for

(%) n ucleophilie substitution wloba) Warming due w gree nhouse
reaction Maney,

(4) f,

free radies| addition re

CH, 4 4CL, L

(1) ¢ g b&nc:%.cz

(%) Souts susm A
() arpamns i s,
(4) & e Wuﬁl oy wﬁ;

149. CH, -Cl «cpy

e < 152. Bulphide ores are
The principal product, v the shove

reaction is PUIPY.,

CH,~CH=CH, 4 fyp;
&l s g

(1) 2 - Bm Propane
(2) 1- ‘Bmmn Propane
(4) 2 “Bromo Butane

@)1 ~ Bromo Propene

WEB-211TEN cum TRT-811-EM/TM

action

yCCL s 4140

1+ HBr o §%

(1) 1R radiation
(2) visuslradiation
(3) K-rays

(4) 7 radistion

.

generally
subjected 1y

(1) calcination

iiiiiiiiiii

(2) roasting

(@) Nux

(4) gangue

Bl s PRI G4 LIS
(1) ﬁqwm

(2) g

(3) Lt

(4) mef,

VZ) Turn Ove



or‘pjrmlucite 1§ enensenseeet
(1) Lead
(2) Zinc
(3) Manganese
(4) Iron
}“w&isn:ﬂ%Wo
(1) ~e
(2) 8=
(3) BRI
(4) Fon=2

154. The ceramics are made from

(1) porce
(@) clay, feldspar and sand

Jain and clay

(3) clay and sand only

(4) poz-ce]ain and sand

:—w@%@?ﬂé‘r&w

L

(1) 6obS o0 woSRY

(2) oS, ;@«Smcomq:aﬁ
(3) mm:wwm-@a:

(4) e,DS sobcme oo
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57. A true Statement which

158.

159. The concept “knowledge for the sake
of knowledge" can mostly be
achieved throu gh this value.
(1) Moral
(3) Cultural

WS-27/TET cum TRT-31 1-EM/TM

. s alwaysg
Justifies the characteyi,

scientific Concepts ig

(1) they Univergga)
Permanent truths,

(2) they dg not haye objectivity.

(3) they obey
establisheqd truths wit
limitg,

ation of

are and

wil] already

hin thejp
(4) they wiy) not change with time,

SYVNES gy PRI B EBse T

(4) TORIE wres Doy

The astronomers, who developed

Lunisolar calender belong to this
country,

(1) Greece (2) Egypt

(3) England (4) India

R SO Tyeotting Endesens %S
TERGe B Bages

1) & (2) Busy

(3) zemoss (4) zodair

(2) Intellectual
(4) Vocational

161.

(31]

BOOKLET g!

"TROR0O0 sty T,
PQononi BTem An@an A oSS

(1) 2os (2) o0
(3) b-::}“ﬁ‘g (4) CRESat

160. The person who criticized Bloom's

'l‘axonnmy of Educational

Objectives as "The classification of
values is not so satisfatory” is

(1) Saket (2) Jackson

(3) Leuton (4) Ornell
bm‘w‘m@m%é@* el
ng&wﬂﬁubgmm:wam
(1) &238 (2) =55

@) oS @) 8

The main specific behavior

developed in learning the concept

“"All vibrating bodies produce sound®
1S e,

(1) makes generalizations

(2) suggests appropriate procedures
(3) gives reasons

(4) prediction

Sebol BEHED 00 &5,0 Bisol
TErEe8 60D edly tuagsive
(1) Soeteistonsss

(2) SO BARK dorise TSR
(3) =Seres Do

(4) Srodstonsso

Turn O



. . g jenoe that 15 more
162. The project involving students 168 = {t“t‘;r n cdueatd nal tour 18
§ g et : ; -
finding the thickness of different il r_ ek ey
I Y (1) dumr:nalr.nl
h.r‘hi.-» of [hrv;[d_-; 15 .. "
2y cruady 9 (2] dram HL.HHHI
(1) stuay (2) heuristic ! y :
(3) observation 1) t 3 TV I”’”Fr'"“nw
o = H i . i e !
(4) creatt™t (4) stll picture
-:‘_:.-__:t..‘-; h!'---;i'\::-ﬂu =‘::.G :l-l:::‘c:ﬂ; 2. = = 'J.-t ﬁ‘;r‘-w-’l" :;g.‘,.;:}ﬂ:' %
._:-:47-1..__‘-_; £ & T ‘-#—w-' h L
- ' e - = -r .._-.:r .-..-.p--p--o- o o L _’.____'.-,, - . SRR
(1) e (2) & il B
1) capa 2) Gl T P mpamd
3 vl (1) B (2) BT
(3) 2ovew (4) =TS p . i gy OO
o . o (3) o :*q:t;..—:'cu‘{é] e W
163. L omparing ¢he heat retention di b 1Lndati0ns
i ¥ T £
capacity of two identical coffee cups 166. Accor ing 10 t : ratnmnrr )
made “F'”fdiﬂ't"renl111:1mr1311:‘nmes f:’tl! Ipdla Seience ecachers
under this type of experiment. Association. all high schools shou
(1) [1]ustrative Bave ..o .
(2) productive (1) Physics [.ab, Chemistr? l.ab,
(3) Finding quamimnﬁa results Riology l.ab, Computer Science
(4) [nvestigative Lab.
- (2) Phys1cs Lab. Chemistry Lab,
- s e - 5 o — TP n N M
Tl e e :3:?%‘95 BOUT IR e Computer Geience La
Zels O5S = seoedt 68 loR= 25 (3) Physics ,ab. Chemistry Lab,
2t oNe O - Biology ,ab Gr_‘:neral Science
- ——— = o'ale
; Lab.
) s - :
(1) G=F=rir (4) [}h:,'-‘:;lc:'.; | 95 b. H“lﬂtﬂgf Lab,
(2) &= Computer Seience Lab.
s sfoee i PO HTTS , 2pcp S50 SO0 TO
e S T S o

(4) ~L=ee
1 . e ® N
64. [dentily the positave verbal
:':_unf.’)r'f.*ement from the following. (1) F5 LG E
- -.1 o o =
(1) Nodding the head
(2) Facial expression """;'#Lrw
(3) Gift oy DY, T :
:r r:I_,_ ‘_‘,}j :T..-“',F:‘ L,,h:..-_";n.):".i:, ::*‘;—;5;35 -:‘%
(4) Oral appreciation DT
P O] L alare
oy T i, A L By e v - - S ’
i ‘ch‘Mﬂ a--:-": _.,(.».A:-::- fh :;:J:n, :.-:?.};..l:-.r:. h'-l-'"?zii M mb
- o, = o
) it G
. )
(4) &5 ST Mo 5l
cos, Sy U BE

i
8§

b
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167. In Clagg b

PL B{J('}KLET
"hysica) Science ILAtive tace: :
Itlcga}:.]r.tb:;nk,tht order of *'—'harftlfjrnon 169, :ﬁ;quam:mtn( testing technique
(1) achievement test
(1) ;:‘;‘i;actmn of light °n plane (2) interest Inventory
(ii) refrzcis (3) rating scale
| Eurfa:e:;un of light On curveq | (4) projective technique
f{{;:{lhuman eye ang colorfy] world SCLrrrome s Sopess
z 1S type ofcurrieulararrangemem (1) > 8z
(1) logica] grgq, (?) eusoinse
(2) topiea] order (3) wotmumey
%) psy chologicy) order (4) SE% Segigse
(4) Concentyrje order Y . : ;
170. Identify the defect in constructing
10 5 SENG o S AR w3 this maltiple choice question.
s m;%‘bﬁ?ﬁﬁ‘a Q. The boiling point of wateris . __
L g QB .......... W) 0°C
1) M%%M% (1) 300°C
= (1)373 K
D B0 5 mob e, Gv)273 K
B m%' Solbe Ssoue (1) All the distractors are correct.
- 'ﬁ‘mﬁs‘%@mn@@ _________ (2) None of the distractors are
(1) TR0 Nmss Correct.
~ ) s (3) No clarity in the stem of
D ET (9t question.
168. Every year, the Southers Wdia (4) There isno relgtion between the
Science Fairs are nrganﬁed:b}, ______ stem and the distractors.
(1) ;éikeracm CSarl;abhai Community Mﬁmwwm
nce €nter . 4
(2) Birla Science C{iegh F 53 20000 &3 ...
(3) Kishore Bharg_th{. - () 0°C
(4) Vlsweswaraiah_:-l"ndustrial and (i) 100°C
Technulugical;Museum (111)373 K
R .. & 1v) 27
agéo%m»% P 20 et )273 K
Sovesiapsdes . (1) soyisrcrmres s
e O ST SEATS
(1) DEFgrans s e Sope (@) =
At (3) &% prrsand® sygsdess
(2) 0% 355 2006
| (4) Syl SsoTres
(3):330 oo s
(4) Tostsatog PEE By oend s
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yvear there are
jength of the bar is ..oonvees

172 In a pie diagram with 4

whose areas are in

1:2:4:8, the angle of smallest
176.
(4 25°
173. 0.16+03 -} pa——

0 16+ 540,83 DO wareneree

(a1
(74
&3
4 4

(34)

% 27TET cum TRT-311-EM/TM

the ratio0ff

posgp £ 0 o
(1) 14,400

(2) 7,300 1
(3) 11,200 Al
(4) 16,400 B
If the price of sugar increased -‘-,
10% from the previous month,
the percentage of reducing t,
consumption in order to main
the same expenditure 18 s vensisooil 2
150 HeHbTBR 370 S0 ¢

ezt s 10% s o B
s - n e’ Bhow
TS serearenseneet

()9 (2 11

(3) -1]1 (4) 10{-1



177. Arcy of triangle - A oungtt

Fasan radjyy And 1 = yom;

uf'l,ruuu:lr: N

(1) true for all
(2) falga

(3) only for Is08CCleg tris ngles is true

(1) only for gcalene triangles ig true

(Ogoe: EH-GLI-.;.: = F8 L {.-‘J.:...."Le.::g‘.}:.c; 8=
IOges ME‘M‘:&?‘-‘;{% ARILS T = it
08 S0 winsnn

(1) w) Gtmea oo

(2) L.:.‘St%{m

(3)

SLslaring Ofouiaex;
S
DS5S wvy
s

178. If reflection of 4 point on y.axis is

SPGB

(4) Geornses, SMGds

(=3, 4), then the point is

(=3, 4) & Bozsgys Y-8t Soits 50
Dowios ...,
(1) (3,4)

(2) (3,-4)

(3) (-3,—4)

(4) (-3, 4)

YS-27/TET cum TRT-311-EM/TM
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179, Only 1 s thie

BOOKLET @ ,

line of wymetry for L
(1) eirele

(2) Bemiaeire| e

(3) ncalene triangle

(4) square

e "'5’.;_;.,?.-2; - 5
(1) Zpstaas

Sl

2) Frpgee

) 5t o B
(4) acksses

180. A wire is bent in the shape of a
Square whose side is 12.6 cm. Ifthe
Ssame wire is bent as a semicircle,
then the radiusis
12.6 2o.ls. gowtonm re ERTET 2%
SR Lo, to o s 2 e &
Tloom Lolis, R0 PR e,
(1) 98 em
(2) 9.08 cm

(3) 9.8 cm
(4) 9.81 cm
181.

The biggest five digit perfect square

1B i

P BRGy wTRE 5 we 08y ..
(1) 99654

(2) 99856
(3) 99175
(4) 99955

Tuarn Over
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BIOLOG 'ALHEIEHI’JH
186. One of the f'r.rfluwinﬂ technigue Wi

developed by Panchy nan

Maheswar;

(1) In-Vitrg frertilizatinn
(2) CGene therapy

(3) Green revolution
(4) Chemutherapy

B8 D6 SoomE rtragp eips L
(1) 220t ymdes
(2) 852

(3) S ttermy
(4) &g,

187. The scientific Institute located at

PART.y ¢ «)
C

Hyderabag Carry out research op :

the crops of tropical countries 1
India is

(4) ICRISAT « @
£y Q
188. The scaveng TS 0

(1) algae )

® v Y

3
these

(4)
VS-27TET cum m-‘tl 1-EM/T™M

BOOKILET 0
Pl gt B .. N
(1) Zore: ay
a8 . 4
(Z) - 4,3‘;
(3) oy’ E/F“a ‘
-
L 8
(4) =< ;fr‘? :}
189. 'Ascaris Lumhri@ 28’ 18 the
entific name R .....

(1) mundwrm-.--ﬁ:

2) iteh mide )
.-;'-’._\;__ s

(3) liver ke

(4) ﬁ.laf‘iﬂfworm

L -

190. Identify the photoautotrophic
organisms.

(1) Fungi

(2) Viruses




metaphase is ... :
(1) doubling of chromosom

@ condensation of chromosomes
(% formation of equitonial plate
(4) appearence of cell wall

Sagyy N6 0 PERER AN

(1) Samdtine Sogy Dgosnae
(2) Shmdtines DOoRW ME0

(3) Sofyy Sede DpEEe
(4) Braxiio DHESe

192. The percentage of oxygen consumed
by the brain, out of the total oxygen

consumed by the body is ..c......c...
< et 2o@Me: 57 Dasdo edSE!
s 2o 3 wded $00 ...

@ o ¢
@ 10%

3 15% '\
(4) 20% it ¢

193. The bone bends but Break
in children. This is y called

(1) impact

fencture
(3) simple .
“@ fracture

bedt SE5Y ool o Do, 8
(1) B2 serio g S S8

o) ety |

(4) ookt Siuse g

‘WS-27/TET cum TRT-311-EM/TM
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194, The process of entering of I‘“u““ﬂl‘%ﬁ: ,:
in & food chain (s knOWN AB o ,
(1 nutrification k.
(2) hinnccumulutmn

(3) binmagniﬁ:rntin

195.
es1n man  Fnee—

) 12 pairs
(2) 31 pairs
(&) 43 pairs
(4) 51 pairs ‘
(1) 12 mbe2
(2) 31 ube
(3) 43 ubeo
(4) 51 el

196. The crushed waste from suga

stemsiscalled ............
(1) molasses

(2) bagasse

(3) kelps

(4) all of these

(1) o

(2) ey,
(3) 365

(4) psd
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(1) body cellg
(2) germ cellg

(3) pollen graing

(4) ovule

Wt Ymwo o Tuor V0N Aoy b
SOR S Wold, oty evmsshals

(1) &oviemes
(2) Deseros
(3) Sodrupos
(4) wolssa
198.

involved in the teaching method of
science 18

|||||||||||||

(1) lecture cum dem_qm_:’tratinn
method '

(2) deductive method "
(3) heuristic mathpd
(4) project mgt.had

(2) B0
(3) e 350
(1) Pa§ 50

WS 27/TET cum TRT-311-EM/TM |

The principle of natural setting ill'

109,

200,

BOOKLET 0

nee tencher purchased
rengentas

A weie BT

the
particulars in RCCERRMN reyinter
firat. After that the Purt
entered into

and  entered

iculars

(1) consumab)e register
(2) nonbreakable register
(3) breakablepegister
(4) permanent register

5 ERMG Gororcinntis B, OdlBeyss
TR P Dioveito dasetiom e Syt
OIS S0, WSS Soves v S
(1) DLadh Shge D

(2) Srel Lo begls

(3) S8 Lo Ceiptio

(4) g Sisgipe Bt
Self-reporting technique used to

evaluate the student's own feelings,
interests is

(1) aptitude test
(2) interview
(3) diagnostic test

(4) intelligence test

DONERe PO WSO oo
Baevs asarned b 785 grse,
(1) i iy 305

(2) 307

(8) i8s0vy Dgpoes 38

(4) gy

——J—_
(39)



